1. Calculate: 2. Calculate: 3. Calculate:

4 3 5 7 39
X 3 6 X 2 4 x 31
Starting
Point
4. Calculate: 5. Calculate: 6. Calculate:
6 3 7 2 5 8
" 2 2 x 3 3 X 4 4




3 Helen’s completed this 4 True or False: 353 x 24 = 8,472
1b. Complete the statement below using calculation — what has she done

<, > or=.
wrong?

213 x 25 214 x 23
‘131x43\ ‘353x24\

1

131
2. Which is larger? X 4| 3

188 x 67 or 187 x 68?

39 3
+52 4 '
Feeling Happy! 9 1 7




1b. Complete the statement below using
<, >or=,

414 x 35 418 x 33

2. Which is larger?

788 x 67 or 787 x 68?

Hot Stuff

3 Helen’s completed this
calculation — what has she done
wrong?

‘931x73 \

-9 3
X /

W =

9
1
1

ol & |\,
w| ]~
ol Nlw

4 True or False: 653 x 24 = 15,672

‘653x24\




Calculate:

3.

Calculate:

2.

1. Calculate:

9
1

3
9

7
4

8

5
2

2

4 3
3
5

6
3

3

2
11 40
1 3 6 8

2

Starting

11 70
12 09

12 90
15 438

Point -
Answers

Calculate:

6.

5. Calculate:

4. Calculate:

8

4
2

5

4

3
2 3 20
2 5 5 2

2
3

6

7
3

1

63

2

2
1 2 60
1 3 8 6

2

2
21 60

2 3 7 6




3 Shedidn’tdrop the 0 whenshe | 4 Trye or False: 353 x 24 = 8,472
1b. Complete the statement below using multiplied by 40 ’
<, >or=,

213 x 25 > 214 x 23
213x25=5,325  214x23=4,922 ‘ 131 x43 \ ‘ 353 x 24 \

1] 3]1 3 5 3
2. Which is larger? X 4|3 X 24

188 x 67 or 187 x 68? 3 9|3 14 1 2
saxer-nss wesenms |59 4 0 70 6 0
Feeling Happy!| [5]6/3[3| | 84|72

Answers — No Peeking!



1b. Complete the statement below using

< > Or=,

414 x 35

414 x 35 =14,490

>

418 x 33

418 x 33 =13,794

2. Which is larger?

788 x 67 or 787 x 68?

788 x 67 =52,796

787 x 68 =53,516

Hot Stuff!

3 She didn’t drop the 0 when she

multiplied by 70

‘931x73\

9| 3|1
. 713
2 7 9 3
6% 1 7 0
67 9 6 3

4 True or False: 653 x 24 = 15,672

‘653x24\

6 5| 3
X 2 4
2 6|1 2
1/+3 0 6 0
/710 5 7 5

Answers — No
Peeking!



